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fiinclude <stdio.h> |

int main(void) {
int a = 10;-

int @ ; // a BEETEALH p FUEHET B

printf("a ™fE: %d¥n”, a); /710 A
printf("p BT %d¥n”, *p); // 10 #HAH

return 0;

} ‘
#include <stdio.h>

int main{void) {
int arr[5] = {1, 2, 3, 4, 5};
int *p = arr; // BEFIOLREPETRA 2 F

int 1;

for (i =0 i<5; i+ {// RFIOLEREHN |
printf("kd *, *( @ ) ); // BA L FEFESTEAINOFEREZHA

return 0;

}
fiinclude <stdio.h>

void increment{int *p) {

@ /) RA L FZeHEoBIEDEEA 27D AL b
}
int main (void) {

int value = 5;

increment( @ ); -

printf("value DfE: %d¥n”, value); // 6 &H5

return 0;
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#include <stdio.h>

int main(void) { _
char str[] = "Hello, World!”; // X
char *p = str; // XFFERETRA &

while (kp 1= "¥0") { // RA Vv F 2> TXFFIEHT

printf ("%c”, ® );
®;

return O;

(FEZ ) *p = &a
p + i(EiZp)

(kp) ++ (F 7= 13 ++ (xp) )

&value

*p
p+t+ (FE7=it++p)
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